6593 Riverdale St.

M 0 U R G BO U P San Diego, CA 92120

619-727-4800
ENGIN ING +

Structural Calculations

for
CBISC-02 Series

Prepared for:

PROVENT / RRS

3847 Wabash Drive
Mira Loma, CA 91725

Date: July 29, 2019
Project Number: PV1805



For wood, concrete and steel
attachment see Roof Anchorage
Detall, Form Mo. CB-60.

Welded Isolation springs
housingare standard. For bolted
spring housing, neoprene pads and
spring cups see Weldment and
Bolting Detail, Form No. CB-61

 EEATURES |

* Roofcurbs sides and ends are 14 ga.
+ Fully welded construction.

* Gasketing package provided.

* Heat treated wood nailer provided.

* insulated deck pans provided.

* Pilched curbs and taller curbs are

STRUCTURALLY CALCULATED VIBRATION ISOLATION
ROOF CURB FOR YORK UNITS

PROVENT PIN

EST.
WEIGHT

CBISCLXL18*" 8" | 18" 205 Lbs.

P***B CABINET

available.
NOTES

* Attach ductwork to roof curb. Flanges
of duct rest on top of the curb,
Support ductwork below the curb,

« Thru the curb utillities are available.
Contact you York distributor or
Provent directly.

(4) #10 TEK SCREW

14 GA UPPER RAIL

B"TOTAL HEIGHT
(35" MAX WITH PITCH)

A" BASE
CURB HEIGHT

f‘. Pquent

44 1/2" 1.0,

UNIT BASE RAIL

ATTATCH TO UNIT WITH
(4) #10 x 6" TEK SCREWS
EACH HOLD DOWN

14 GA UNIT HOLD DOWN
(1) PER EACH SIDE

JOA ISOLATOR RESTRAINTS
{1) PER EACH SHORT SIDE
(1) PER FACH LONG SIDE
FULL PERIMETER

WOOD NAILER

STIFFENER 14 GA x 7" % 1 1/2"
AT EACH ISOLATOR

*4 GA. CUR3

3847 WABASH DRIVE SUBMITED TQ:
MIRA LOMA, CA 91752 COMPANY:
PHONE (951) 685-1101 JOB NAME:
FAX (619) 872-9799 EQUIPMENT:

NOTES:

CBISCLXL21™ 1" | 21" 224 Lbs.

CBISCLXL24"" 14" | 24" 239 Lbs.

**Note: Spring configuration must be added to
part number at time of order

Maels seismic requirements for the lollowing
codes:

CBC 2018

IBC 2015

FORM NO: PART NUMBER:
CRISC-02

DATE: REV: DRAWN BY:
10/3/2018 1 ALL



STEEL ATTACHMENT

WELDED CURB

CENTER ON CURB FLANGE. SEE TABLE FOR
QUANTITY OF EVENLY SPACED 1/2 " @ A307 BOLTS
ATTACHED TO STEEL ANGLE BELOW DECK AT
EACH CONNECTION POINT

/SHEATHING WHERE OCCURS

R

\( METAL DECK

ASSUMES:
CONC SLAB

Meets seismic

requlrements for the
following codes:

CBC 2016
IBC 2015

ROOF ANCHORAGE DETAIL

l'c= 4000PSI MINIMUM

6" MIN THICKNESS

NORMAL WEIGHT CONCRETE
OR SAND LIGHT WEIGHT

CONCRETE ATTACHMENT

WELDED CURB

CBKD Series CBWC Series CBISC Saries
LXS LXS LXS
LXL LXL LXL
SUN3672 SUN3672 SUN3672
PRD3715 PRD3715 PRD37 16
PRS PRS PRS
PRL PRL PRL
sLu1ao SLU180
SLM1830 SILM1830

CENTER ON CURB FLANGE. SEE TABLE FOR

QUANTITY OF EVENLY SPACED 2/4" @ THREADED
S~ STEEL ANGLE SUPPORT ROD IN HILTI HIT-HY 200 EPOXY WITH 4" EMBED
BY OTHERS
schedon inionl ik i NO. OF ANCHORAGE BOLTS REQUIRED
CLUXZB 2‘“&3 :I %Ec Xxsgozné ?;DE) C CURB LONG SIDE SHORT SIDE
LXL 7@ a4 & 0.C.XK 2@290C ; LXS 10@373" 0.C. 9@2.38"0.C.
- . . x " =1

SUN3672 2 @ 60" 0.C 2@ 24.25"0.C SUII_\JSIéTZ Bg@@ 47953 g.GC- ; g :.ggu g.g.
PRDA715 7@ 6838 O.C 2@385 0.0 50.C. 8570C.
PRS 2@58.38' OC 2@ 28.19" O.C. PRD3715 17 @ 4.27"0.C. 13 @ 3.21"0.C.

PRL 2@72 0C @41 0C PRS 9@7.3 0C. 7@4T1 OC.
SLU780 2@ 102.25' 0.C. 2@71 OC. PRL H@1.2"0C! 9@513°0C.
SLM1830 2@ 113.25' O.C 2@710C SLU180 16 @ 6.82" O.C. 13 @ 5.92" O.C.
2570, a2 SLM7830 18 @ B.66' O.C. 13 @ 592" 0.C.

*“* CENTERED.

*SIX INCHES FROM EACH CORNER EVENLY SPACED.

NO. OF ANCHORAGE SCREWS

WOOD ATTACHMENT REQUIRED
CURB LONG SIDE | SHORT SIDE
WELDED CURB CENTER ON CURS FLANGE. SEE TABLE FOR LXS: 7864270, | 4+ @767 OC.
QUANTITY OF EVENLY SPACED LXL i L AR T T
%" @ SIMPSON SDS OR EQUIVALENT SCREWS SUNIGT2 4@2135°0.C. 1 3@ 14.13°0.C.
(3% " MIN. EMBED. INTO WOOD FRAMING) PRD3715 8@1034°0C. | 6@85"0C.
PRS 1@2079°0C. | 3@ 1609700,
PRI @253 0C. | 3@225' 0.
SLU780 T@17.71"00C. | 7@ 125 OC. .
SIM1830 B@I675'0C. | 6@ 15 OC. /
FOUR INCHES FROM EACH
CORNER EVENLY SPACED
. FORM NO:
® P V t 3847 WABASH DRIVE el 0860
® MIRA LOMA, CA 91725 :
‘ o en JOB NAME:
i FAX (619) 672-9799 NOTES: 0731718 ALL




WELDMENT AND BOLTING DETAIL

QPTIONAL
WELD LL.C.
BOLTED STUD

TSy g

{3) 6/1€" BOLTS
GRADE 5 EA SIDE
OF THE STIFFENER

(2) EA SIDE FOR _
A - FOR JQB, JQBX, JOF, JGF:

QOPTIONAL BOTTOM
BUMPER FOR:
ISCALSLU18D
ISCALSLM1830

FOR JQA:

%¢"? HOLE USE J4'@ A307 BOLT
WITH FLAT WASHER AND NUT

:"@ HOLE USE %'@ A307 BOLT

HOLE FOR ISOLATOR STUD,
Wi FLAT WASHER REQUIRED
UNDER NUT

7/16" FOR JQA

9ME" FOR JQBIIQBX

116" FOR JQEJQF

NEOPRENE CUP
UNDER SPRING

Y THICK NEDFRENE PAD
REQUIRED

WITH FLAT WASHER AND NUT S —
BASE CURB SUPPORT
° 3847 WABASH DRIVE SUBMITTED TO: ORI
Prove nt MIRA LOMA, CA 91725 COMPANY: CB-61
JOB NAME:
PHONE (951) 685-1101 EQUIPMENT: DATE: REV: DRAWN BY:
L——‘ FAX (619) 8729799 Ream 02/08/18 1 ALL




6593 Riverdale St.
San Diego, CA 92120

MOUR GROUP

16191727-4800
ENGINEERING + DESIGN Page __ of
Client:|ProVent  PVIB05 |
Project:[CBISC-02 IsoCurb [CBISCLXL**]  Upper curb rail|
Unit:JALL YORK P***B CABINETS
Curb information _ FUT
Hcurb upper = 5.5}in [Height of upper curb rail] ‘ = ey =
Leurb = 46.5in [Length of curb} I = e )
weurb = 41}in {Width of curb) [
WGTcurb = 739 lbs {Weight of curb) ‘
# Clips long side = 1 # Clips short side = -
WGTunit = £20]lbs [Weight of Unit] l W w Fo
Wtmax = 141|lbs [Maximum corner weight} =
Wtmin = 78{lbs [Minimum corner weight]
Hunit = 55)in [Height of unit above curt)
Hem = 27.5)in [Height to center of mass]
Lunit = 51.25}in [Length of unit} {wm-m
Wunit = £5.75in [Width of unit} *
-y
Seismic Loading - 2015 IBC/2016 CBC | Coes
Ss= 2.850 [Worst case for majority of CA - Design Category DI
Fa= 1.000 [interpotated from Table 11.4-1 ASCE 7-10)
Sms= 2.850 [Fa*Ss)
Sds = 1.900 [2/3*Sms)
ip = limportance Factor Category lii Building]
Fpmax = 3.800 Wp 11.6*Sds*1pi*Wp
FpmaxASD = 1117 lbs [0.7*Fpmax] EpmaxASD = 1753 lbs
lunit only] lunit and curb]

*** Exposure Category C ***

Kz = 113 [For &0 ft roof height, Exposure C - Table 29.3-1 ACSE 7-10]
Kzt = 1.0 [No topegraphic effects assumed for rooftop meunted units)
Kd = 0.85 [Directionatity facter Table 26 .4-1 ASCE 7-10]
Vs 115 [Max wind velocity, mph for Cat [l & IV bldgs Exp. Cat C]
GCringrzi = 1.9 [Refer Sect 29.5.1 ASCE 7-10]
GCryery = 1.5 [Refer Sect 29.5.1 ASCE 7-10]
qz 325 psf =0.00256*Kz*Kzt* Kd*V* [Eq. 29.3-1 ASCE 7-10}
FrasDtans = 798 lbs =0.6*qz*GCr*Lunit*[Hunit+Hcurb upper] [Eq. 29.5-2]
Fraso ieng = 713 lbs = 0.6*qz*GCr*Wunit*(Hunit+Hcurb upper]
Eoncg= 477 lbs =0.6*q2"GCr*Lunit*Wunit [Eq. 29.5-3)
Curb Loading
Iransverse:
Compressiong ey c = 1106 lbs =[FpmaxASD*Hem+2°%[1+0.145 5] *Wtmax*weurbl/weurb
Tensiongggu: = 966 lbs = Compgeruc-(0.6-0.145,*WGTunit
Compressionyus = 466 lbs ={F, transaco "HEM #2406 *Witmax*weurt-F, .0 *Weurb/2)/weurb
Tensionwng = 691 lbs = Compyno+Fvert-0.6*WGTunit

---> Negative values indicate Comprassion load rather than Tension.

Longitudinal:
Compressionggeue = 1018 lbs ={FpmaxASD*Hem +2°(140.14* Spe*Wimax® Leurbl/Lcurb
Tensionggguz = 877 lbs = Compsgsunc-10.6-D.14S55*WGT unit
Compressionying = 352 lbs =[Fp ransasp* Hem+2*0.6*Wtmax*Leurb-F,, qusp*Leurb/2l/Leurb
Tensiongup = 577 lbs = Compyng+Frert-0.6*WGTunit

---> Negative values indicate Compression load rather than Tension.

Governing Reactions:

verse: Compysx= 1106 lbs —3> Along long edge of curb.

{on long edge) TenSuy = 9bb lbs -~> Along long edge of curb.
Longitudinal: | Compyay = 1018 [bs —> Along short edge of curb.
fonshortedge) | Tensusx= B77  lbs —> Along short edge of curb.

---> Negative values indicate Compression load rather than Tension.



6593 Riverdale St,

MOUR GROUP o g v
16191727-4800
ENGINEERING + DESIGN Page _ of _
Fy= 50 ksi Fu= 65 ksi t=  0.0713[14 Gauge]
E= 29500 ksi B
. ——
A'= 5.500{in a= 5144 in =A'-[2r+t) < L —k‘
B'= 1.500}in a'= 5.429in =A'-t S i ; ;
C= 0.000]in [0 if ne lips) b= 1.322 in = B'-{r+t/2+alr+1/2)] = ‘
a= 0.000{(0 - no Lip; T w/ lip) b= 1.464 in = B'-[t/2+a1/2) / ,
R= 0.106 [Inside bend radius) c= 0.000 in =a[C'-(r+1/2)] /
t= 00713 in C'= 0.000 in =q[C-t/2] R~ ;
r= 0.143 in =Rst/2 us= 0.224 in =nri2 Al
A= 0.261 in |Distance between centroid and web centerling) \
Ix = 2.424 10 [Moment of Inertia about X-Axis)
ly= 0.109 in [Mament of Inertia about Y-Axis) tx
A= 0.59 in? — i |
rx= 2.03 in
ry= 0.432 in N _*_
rmin = 0.432 in
Axial Comprassion
Pu= 0.559 k [Max Axial Comp) Q.= 1.80
Pn/nc = 9.561 k : —
£ h i B R4 fAs15 F=(osss¥)R . ]F,. L
Ac= 113 1S 7 . g o DB77 “JE T 2
Fn= 2931 ksi e Ml k21 f= PR s ()
Ly= 4650 in Lateral unbraced length
kLJr, = 86 lassume k=0.8]
Compression Check = 0.K.
Check Web Crippling
h= 55in -~ Check limits: C=1750
t= 00713 in hit= 7714 =200 Cr=0.08 [See table £3.4.1-2, fastened
N= 7.00 N/t=  98.18 2210 Cy=0.12 19:34ppOMt; o Hange, wnd
i 175 N/h= 1273520 €, = 0048 s
P,= 1947k R/t= 1.50 120 h
P.JQ, = 1.112k Pn=Ct2f-;sin(90)(3-C'gj_)(i +c~j—‘-)(1-chj:)
Long side: Puy, .. = 1.106 k QK #clips=1 :
Short side: Puy ., = 1018k DK #clips=1
i N/A
width of stiffener = 7.000 in ts=  0.0713
web of stiff. w= 4.644 in Rs= 0.1069 in
***Check w/ts < 1.28VE/Fys .= 1.70
wits = 93.178
1.28V[E/Fys] = 31091 > w/ts over limit UseC3.7.2
P =07(By: + AcE,) = Py
Pwe = 1.947 k Ae= 0474 in?
Pn= 17.942 k
Pn/n, = 10.554 k Not Reg'd
Corner Connections 1/4" @ SAE Grade 8 bolts w/ 1/4-20-UNC Threaded inserts
Ternmax = 279 lbs MaxlF.uenld -OR- Fhyp.,./k corner connections)
Vernmax = 483 lbs [Max Ten/2 corner cennections per side]
Bolt: Tall= 2480{lbs Vall= 1096]lbs
Threaded Insert: Tall= 2840]lbs Vall = 1714|lbs
# of Bolts required for Tension = U 1
# of Bolts required for Shear = ***If combined fails:
# of Bolts Used = USE --> 2.0
Check Combined Stress in Bolts & Inserts: 0.553 QK. StressComb = 0.277 0Q.K.
" <--- USE WELD G= 2.35
Assume L/t > 25: 25%t = 1783 in Vel
Lregd= 0327 n "o ‘”" WISELE, 2 Wy breg'a = 575,



6593 Riverdale St.

MOUR GROUP

ENGINEERING + DESIGN Page ___of
:mmbnﬂnnm_cu‘_:h___nu% #10)SMS screw n= 3.0
tl = 0.0713]in lclip thickness) Ful= &5)ksi
t2= 0.1017]in lunit base rail thickness] Fu2= &5(ksi
d= 0.190 in [screw diameter] dw = 0.375 in [nom. washer diameter|
t2/t1 = 1.4

For t2/t1s1.0: Pns = 2377 # For t2/t1 > 2.5:

=y
shear. Pe=42fa 4 agek Prs= 2377 #
P = 2.7¢,dFy, 238 k Pas = 2.7tydFyy 2.38 k ==
B = 2712dF,; 3.3% k Fps = 2.7t:dFy5 3.3% k
Pns/Q= 792 #
Pss/a = 540 # <- Controls Poor = 0.858,dF,2)
Tension: Pnot = 1.068 k [screw pull-out strength] t. = min(ty, t;)
Pnav = 2.607 k Iscrew pull-over strength] p,_. = 1.5¢,d,,F,;
Pts/Q = 356 # <- Controls
Pts/Q = 820 # {full tensile screw capacity|
Shear (k] _#clips Voo |kl Vg lb]l #screws spacing
Long side: 1117 1 1.12 540 # &4 200in
Short side: 1.117 1 1.2 540 # 4 2.00in
clip width [in] = clip height = 2.5}in
min spacing= 0.57 in edge distance = 0.5in [min. 1.5d) o R
ack Block shear rupture: QK. thinnestpart= 0.0713 AIS! BSR applies P ® ‘"‘l . £
Fy= ksi 0= 2.22 bolt/screw connection 30 e i 4ir 2
Agv = 0.463 in’ Anv= 0.416 107 Ant= 0.082 in’ - Y
Rn/a = 8.674 k Ry = 0.6F, 4y, + B, Ay < 0654, + F Ay T
BSRO.K |AISI Sect. E5.3]
Curb Loads lcopied from above| Loads at each Isolator  Type: JoA
Transverse: Compuex= 1106 lbs Transverse loeding: |Compuac= 11064 lbs
(on long edge} Tensuax = 966 lbs (on long edge) Tensuax= 9661 lbs
Sheary,y = 559 Ibs # isolators: 1 Shearyx= 5586 lbs
Longitudinat: Compuax= 1018 ibs Longitudinal loading: [Compuax= 1017.7 lbs
{on short edge) Tensyuy = 877 lbs (on short edge) Tensyax= B774 Ibs
Sheary= 559  Ibs # isolators: 1 Shearys.= 5586 lbs
Max compression force onisclator: 1106k ¢ 1660k QK
Max uplift onisolator: 0966k <1460k QK B 601n ¥
. M:x shear :'m isolator: 0559k <0800k QK 90 in O O
d,= 0375
upperrail, t= 0.1017 in 70in
Tension= 0966 k
Shear= 0.559 &k
Shear on curb rail: B, =tef, o= 200 (Appendix A, Section E3.1 AISI]
Pn/Q= 6611k e= 1.0 in
Shear 0.K.
Net section rupture: P, = AsF, 0= 222 {Appendix A, Section £3.2 AISI)
Pnfa= 7.117k An= 0165 in
N.S.R. 0.K. F,=(01+3d/s)F, < £ = 43.063 ksi
Bolt Bearing Strength: P = CmydtR, 0= 250 [Section E3.3.1 AISI)
Pn/o= 2975k dit= 369
Bearing 0.K. C= 300 mi= 1.00
hear ' t: [Appendix A, Section £3.4 AlSI]
Tensich Ppy = ApFie Fnt= 40.5 ksi A= 01104 i
Pnt/= 1.988k Bolttension 0. = 2.25 [Table E3.4-1, AISI]
Shear Bup = Anfan Fav= 240 ksi Ov = 2.40 [Tabie E3.4-1, AISI)
Pov/Q= 1.104k Bolt shear 0.K
§iFn,
i L e 506 ksi oK

Combined Not Applicable Fnt= 3217 kst Fav/Q= 1000 ksi




MOUR GROUP

6593 Riverdale St.
San Diego, CA 92120

619)727-4800
ENGINEERING + DESIGN Page __ of ___
Client:|ProVent  PV1805 |
Project:|CBISC-02 Iso Curb [CBISCLXL*#) Base curb
Unit:[ALL YORK P***B CABINETS
A
Curb Information - B &5
Heurb = 25)in [Height of curb) — W‘LR ==
Lcurb= 50.5{in (Length of curb) Txiant]
weurb = 45|in [Width of curb) 4
WGTeurb = 239|lbs [Weight of curb) i E
# Clips long side =|___1 #Clipsshort side=[__1 | s , B 3=
Unit Information = ! :
WGTunit = 420|lbs (Weight of Unit] ; 3
Wtmax = 141|lbs [Maximum corner weight] |
Wtmin = 78|lbs [Minimum carner weight]
Hunit = 55[in (Height of unit above curb)
Hem = 27.5)in (Height to center of mass)
Lunit = 51.25}in {Length of unit)
Wunit = 45.75(in (Width of unit)
Seismic Loading - 2015 IBC/2014 CBC
Ss= 2.850 (Worst case for majority of CA - Design Category D)
Fa= 1,000 (Interpolated from Table 11.4-1 ASCE 7-10)
Sms = 2.850 [Fa*Se)
Sds = 1.900 [2/3*Sms])
Ip = (importance Factor Category Iil Building]
Fpmax = 3.800 Wp (1.6=Sds"Ip]*Wp
FpmaxASD = 1117 lbs (0.7*Fpmax) FpmaxASD = 1753 lbs
(unit only] [unit and curb)
*** Exposure Category C ***
Kz = i.13 (For 60 ft roof height, Exposure C - Table 29.3-1 ACSE 7-10)
Kzt = 1.0 (Ne topographic effects assumed for rocftep mounted units)
Kd = 0.85 [Directionality factor Table 26.6~-1 ASCE 7-10)
V= 115 [Max wind velocity, mph for Cat il & IV bldgs Exp. Cat C)
BCrpgrin = 1.9 [Refer Sect 29.5.1 ASCE 7-10)
GCriey = 1.5 (Refer Sect 29.5.1 ASCE 7-10)
qz 32.5 pst = 0.00256"K2*Kzt*Kd*V* (Eq. 29.3-1 ASCE 7-10)
Frasntrane = 1056 lbs =0.6*qz*GCr*Lunit*(Hunit+Heurb] (Eg. 29.5-2]
Fr st iong = 942 lbs = 0.6*qz*GCr*Wunit*{Hunit+Hcurb]
Frarasn ™ 477 lbs =0.6%qz*GCr*Lunit*Wunit (Eq. 29.5-3)
Curb Loading
Iransverse:
Compressiongge s = 1040 tbs =[FpmaxASD*Hem+2°(1+0.145,.)*Wimax*weurbl/wecurb
Tensionsgemc = 899 lbs = Compagspmic-10.6-0.145,*WGTunit
Compressionywg = 576 lbs =[F} trancasp "THem+220.6 *Wimax*weurb-Fyomaen *weurb/2)weurb
Tensionyng = 800 Ibs = CompygnptFvert-0.6*"WGTunit

Longitudinal;
Compressiongggwe =
Tensionggepwe

Compressionyyp =
Tensiongyp =

Governing Reactiol

---> Negative values indicate Compression load rather than Tension.

965 lbs =[FpmaxASD*Hem+2*(1+0.14%S¢)*Witmax®*Lcurbl/Leurb

825 lbs = Compecpsme-10.6-0. 1450 *WGTunit

444 |bs =[F,, taneasn "HemM+220.6*Wimax*Lcurb-F o uen™Leurb/2)/Lcurb
669 lbs = CompyptFvert-0.6*"WGTunit

---> Negative values indicate Compression load rather than Tension.
ns:

|Transverse: Comppax= 1040 Lbs ---> Along long edge of curb.
(on long edge) Tensyy = 899 lbs —> Along long edge of curb,

Longitudinal: Compuax= 965 lbs —> Along short edge of curb.
(onshortedge) | Tensuax= 825  lbs ---> Along short edge of curb.

---> Negsative values indicate Compression lead rathar than Tension.




6593 Riverdale 5t.

MOUR GROUP San Diego, CA 92120

(619)727-4800
ENGINEERING + DESIGN Page ___aof _
Curb Design
Fy= 50 ksi Fu= 45 Ksi t=  0.0713[14 Gauge|
E= 29500 ksi B
‘= 25.000[in a= 24 644 in = A'-[2r+t) e S
B=[__ 1.750|in g= 24929 in = At [y 4
= 0.000}in (0 if no lips) b= 1.572 in = B'-[r+t/Z+alr+/2)) — 7
= 0.000](0 - ro Lip; 1w/ lip) b= 1.714 in = B'-[t/2+a1/2) /
R= 0.1069 [Inside bend radius) c= 0.000 in =olC'-Ir+t/2)] _/
t= 00713 in ¢= 0,000 in =alC'-t/2) R
r'= 0.143 in =Rst/2 us= 0.224 in =nr/2 A
X= 0.104 in (Distance betwaen centroid and web centerline]
Ix= 128.737 in (Moment of Inertia about X-Axis)
ly = 0.218 in (Moment of Inertia about Y-Axis) th‘*\
A= 201 in’ .
rx= 8.00 in
ry= 0.329 in =
rmin = 0.329 in
Axial Compression
Pu = 0.559 k [Max Axiat Comp) Q.= 1.80
Pnfac = 18.917 k 2
Fe= 1929 ksi B Ra =15 5 =(06587)5 LB [ %
Ac = 1.61 a -7 i _0.877 = |E e = z
£ = 16.91 ksi T 8 Ira>15 R= e VR (kt/r)
Ly = 50.50 in Latersl unbraced length
Kyly/ry = 123 {assume k=0.8)
Compression Check = 0.K.
Check Web Crinpli
e M ~ Qrock limi=: - [See table C3.4.1-2, fastened
t= 0.0713 in h/t=  350.63 <200 Cg=0.14 S
N = 7.00 NA= 98185210 Cy= 0.35 b support. are fange. end
o, = 1.75 N/hs 028520 €, = 0.02 toading!
Py= 2105k Rit= 1.50 £9.0 = % h
P/f.= 1203k B =Ce?Fsin(o0)f 1—Cg (= |{1+Cy (=l 1-C |-
Long side: Purgpe=  1.040K 0K #clips=1 ( D ( D( j:)
Short side: Puy,.; = 0.965 k 0K #eclips=1
***h/t > 200; use web stiffeners
Check Web Stiffaner 16Ga x 1.5in x 7in {C-channel)
width of stiffener = 7.000 in ts=  0.0566[16 Gauge]
web of stiff. w= 8717 in Rs= 0.0849% in
“**Check w/ts < 1.28VE/Fys Q.= 1.70
wfts = 118.675
1.28V[E/Fys] = 31.091 > wits over imit Use C3.7.2
P =0.7(Puc + 4.5,) 2 Py
Pwc= 2105 k Aes= 0.380 jn?
Pn= 14,780 k
Pn/Q. = 8.6%4 k D.K.
Corner Connections 1/4" ¢ SAE Grade 8 bolts w/ 1/4-20-UNC Threaded inserts
Ternmax = 279 lbs Max{F; mpasp/é ~OR- Fhyaspieans/4 corner connections)
Vernmax = 450 lbs [Max Ten/2 corner connections per side)
Bolt: Tall = 2480]1bs Vall =| 1094]lbs
Threaded Insert:  Tall= 2860](bs Vall =| 1714|ib5
# of Bolts required for Tension = 0.1
# of Bolts required for Shear = 0.4 ***if combined fails:

#ofBoltsUsed=[  11] USE --> 4.0
Check Combined Stress in Bolts & Inserts: 0.523 QO.K. StressComb = 0.131 0K,



MOUR GROUP

6593 Riverdale 5t.
San Diego, CA 92120

(6191727-4800
ENGINEERING + DESIGN Page __ of ___
= <--- USEWELD Q= 2.35
Assume L/t > 25: 25"t = 1.783 in i Vgl
Lregd= 0304 in By = ZOTSELE, 2 Yy Lreg'a = -"-—0_75"%
r ilc Loads at each lsglator  Type: JOA
Transverse: Compuax= 1106 lbs Transverse loading: |[Compuax= 11064 lbs
(on long edge) | Tenspuy = 966 lbs (on long edge) Tensusx= 9661 lbs
Sheary,y = 559  ibs # 1solators: 1 Shearyay= 558.4 |bs
Longitudinal: Compyax= 1018  lbs Longitudinal loading: [Compuay= 1017.7 (bs
(on shortedge) | Tensysy= 877  lbs (on short edge) Tensyax= 8774 lbs
Shearpay = 559 lbs # isolators: 1 Shearpsy= 558.6 lbs
Max compression force onisolator: 1,106k <1480k 0Q.K
Max uplift on isclator: 0966k <1660k QK. 'J',- 600 ¥
Max shear on isolater: 0.559k <0800k Q.K.
- it bibits: 20in O O
do= 05 in
base curb.t= 0.0713 in 7.0in
Tension= 0483 Kk /bolt
Shear= 0279 k/{bolt
hear on rh: P, = teF, 0= 200 [Appendix A, Section E3.1 AlSI)
Pn/Q= 4.635k e= 1.0 n
Shear 0.K.
Net section rupture: B, = 4AnF, o= 222 [Appendix A, Section E3.2 AISI)
Pn/Q= 5909k An= 0.107 in
N.S.R. 0.K. Fo=(01+3d/s)F, <F,= 55250 ks
Bolt Bearing Strength: £, = Cmdté, 0= 250  [Section E3.3.1AlSI)
Pn/0= 2781k dt= 7.01
Bearing O.K. C= 3.00 mf=  1.00
Shear and tension in bolt: (Appendix A, Section E3.4 AiSl)
— Poe = ApF Fot= 45.0ks Ay= 01963
Pnt/Q= 3.927k Balt tension 0.K. Qt= 2.25
Shear B = ApFp Fnv= 27.0ksi Qu= 240
Pnv/d= 2.209k Bolt shear 0.K. ***[Table E3.4-1, AISI]***
Flae = 1.3 = I:‘::rf" = fv= 142 ksi 0K
Combined Not Applicable Fnt= 45.0ksi Fnv/R= 1125 ksi
Roof Loading SEISMIC: [0.6-0.145D5)D + 0.7E WIND: 0.6D +W
Transverse:| Upliftyax = 2242 lbs | Sheary,y = 876 lbs |
Compressionsgsus = 2462 lbs =[FpmaxASD*[Hem+Heurbl+[1+0. 1455 IWGT npocuo/2) *weurb]/wcurb
Tensionsgeuis = 2242 lbs =Compsgicpc-(0.6-0.1455)* (WGTunit+curb]

Compressionyp = 1191 lbs =[F, trensaso IHem+Heurbl+0.6*(WGT . 1. e/ 2)*Weurb-F o uep *weurb/2)/weurh
Tensionyyp = 1272 lbs =[P transasp "IHem e+ Heurb)-0.6 " IWGT o y.cure/ 2V WeUrb+F emaso *weurb/2lweurb
Longitudinal:[ Upliftuay = 2019 s I Shearum = 874 lbs |

Compressionsgeme = 2240 lbs =[FpmaxASD*[Hem+Hcurb)+[1+0.1455¢|*IWGT 1. oe/21*Leurbl/Leurh
Tensionggswe = 2019 lbs =Compsegue-10.6-0.14S51* (WG Tunit+curb)
Compressionmp = 939 lbs =lF s tmneaso (HemeHeurb)+0.65WGT ..o /20 LeUrb-Fog sen®Letirb/2)/Leurb
Tensiongo = 1020 lbs =[Fy trersasp*(Hem+ Heurbl-0.6 5 IWGT iy, cro/2)* Leurb+ Fgrssp *Leurb/2)/Leurb
Wood Attachment: 1/4" ¢ wood lag screws w/ 3.5 Min. Embed (SGmin = 0.43]
Tallpea = 946.67)lbs Vall, e =| 1043.33}lbs
Verse: Tallges= 671.25|lbs Vall o4 = 22L|\bs
# of Screws Regq'd for Uplift = 3.34 COMBINED LOADING: 0.907 0.K.
# of Screws Req'd for Shear = 3N Req’'d Min Spacing =in o0.c.

Total # of screws required =

Use 8-1/4" & wood

SCTEWS

6.1 in o.c. along long side of curb w/ 3.5" Mi

d



4l

6593 Riverdale 5t.
MOUR GROUP sonDieg,OA 2120
(619)727-4800

ENGINEERING + DESIGN Page ___of ___

Longitudinal:
# of Screws Reg'd for Uplift = 3.01 COMBINED LOADING: 0.865 O.K.

# of Screws Reg'd for Shear = 3.91 Screw Spacing =m o.c.

Total # of screws required =

4" & wood lag screws @ 5.3 in o.c. along short side of curb w/ 3.5" Min. Embe

SteelDed:Auzdlment 1/2® @ A307 Bolts to steel angle below deck

Tallyeq = 5903|lbs Valle=|  3682)ibs
Transverse: 6903|lbs 3682|lbs
# of Bolts Req'd for Upiift = 0.32 COMBINED LOADING: 0.281 O.K.

# of Bolts Req'd for Shear = 0.24 Bolt Spacing =in o.c.

Total # of bolts required =

Use 2 - 1/2" & A307 Bolts to steei angle beiow deck @ 38.5 in o.c. along long side of curb

# of Boits Req'd for Uplift = 0.29 COMBINED LOADING: 0.265 O.K.
# of Bolts Req'd for Shear = 0.24 Bolt Spacing=[____ 33.0]in o.c.
Total # of boits required =
-1/2" & A307 Bolts to steel below deck @ 33 in o.c. along short side of cu
For Concrete anchorage:  SEISMIC (0.6-0.145DSID + 0.7Q,E (Q, =2.5)
Concrete Attachment: 3/4° @ thrd'd rods in Hilti Hit-HY 200 epoxy  w/ 4" embed
Tallygep = 1919 lbs Vall gep = 3188 (bs o= (1+ 0.25D5)D + 2.5E =1.87
Tallasp = Tall gep/a = 1026.2 lbs Vallasp = Vallgep/a = 1704.8 lbs (D = 0465 E = 0.535)
Transverse:| Upliftyu = 5310 lbs | Shearyy = 2191 lbs
Compressionsgsuc = 5530 lbs =[2.5*FpmaxASD*[Hcm+Hcurbl+(1+0.14Spc ) IWBT s, /2] "weurbl/weurh
TensionNsgcme = 5310 lbs =CompPepcme-10.6-0. 145, 1* (WG Tunit+curd)
Shearsgeyc = 2191 lbos =2.5*FpmaxASD/2
Min Bolts Reqg'd Uplift = 5.17 spacing = 530 ino.c. Tapplied = 885.0 lbs
Min Bolts Req'd Shear = 1.29 spacing = 265 ino.c. Vapplied = 345.2 lbs
o A COMBINED LOADING =  —c2pked | Fepitied 15 _yog
spaced at 7.70 in o.c. TattowAsp  Vailow.asp

7.7 in o.c. max. along long side of curb w/ 4" embed

rd'd rods in Hiiti Hit-HY 200 epo

Use 6 -3/4" & th

ngitudinal: Upliftyay = 4753 lbs Shearyax = 2191 lbs
Compressionspsmic = 4973 lbs =[2 5*FpmaxASD*(Hcm+Hcurbl+ (140,145 %) (WG T, ai.core/ 2) *Leurb]/Lcurb
Tensionsgemic = 4753 lbs =Compepeme-10.6-0.145,:1* WG Tunit+curb]
Shearsgguic = 2191 tbs =2.5*FpmaxASD/2

Min Bolts Req'd Uplift = 4.63 spacing = 5.25 ino.c. Tapplied = 792.2 lbs

Min Bolts Reg'd Shear = 1.29 spacing = 21 ino.c. Vapplied = 365.2 lbs
i e S e COMBINED LOADING =  —oplied | Vapiled 45 49
spacedat  6.60 Ino.c. aliow.asp  Valiow.aso

Use 6- 3/4" & thrd'd rods in Hilti Hit-HY 200 epoxy @ 6.6 in 0.c. max. along short side of curb w/ 4" embed

@_ﬂ!ﬂgﬁ_ (CBISCIXL®' (CBISCLXL®* Unit: ALL YORK P***B CABINETS

UPPER CURB RAIL THICKNESS: 0.0713in 14 Gauge
UNIT CLIP THICKNESS: 0.0713in 14 Gauge
# OF CLIPS (LONG SIDE) - 1 clips with 4 - #10 SMS screws each clip
WEB STIFFENER: NOT REQUIRED
# OF CLIPS {SHORT SIDE} - 1 clips with 4 - #10 SMS screws each clip
WEB STIFFENER: NOT REQUIRED
VIBRATION ISOLATOR TYPE: JOA Top stud diameter: 3/8
Anchor bolt diameter: 1/2 Anchor hole diamter: 9/16
BASE CURB THICKNESS: 0.0713in 14 Gauge
WEB STIFFENER: 16Ga x 1.5in x 7in (Cchannel) stiffener at each clip on base curb
CORNER CONNECTION: Use minimum 4 - 1/4" ¢ SAE Grade 8 bolts w/ 1/4-20-UNC Threaded inserts

B WOO0D STEEL CONCRETE
ANCHORAGE 1/4* & wood lag screws w/ 3.5" Min.| 1/2" $ A307 Boltsto | 3/4" & thrd'd rods in Hilti Hit-HY
Embed (SGmin = 0.43) steel angie below deck 200 epoxy w/ 4" embed
LONG DIRECTION 8 @ 6.07 in 0.c. 2@ 385ino.c. 6@ 7.7 ino.c.
SHORT DIRECTION 8@ 5.2%in o.c. 2@ 33ino.c. 6@ 6.6 in o.c.






